
Code No. : 2235

Q1) Attempt any two parts of the following : [2 × 5 = 10]

a) Describe the working of carbon microphone in detail along with its characteristics.

b) What is multi-speaker system? Differentiate between woofer and tweeter speakers.

c) Discuss the concept of fidelity in audio system. What parameters effect the fidelity in audio system?

Q2) Attempt any two parts of the following : [2 × 5 = 10]

a) Explain the concept of audio as data and signal.

b) What is the need of time compression and expansion in audio. Discuss MPEG-4 format.

c) What do you mean by scanning? What are its types?

Q3) Attempt any two parts of the following : [2 × 5 = 10]

a) i) What is the aspect ratio in Indian TV system?

ii) The total duration of one complete line in TV system is called _______.

iii) A loudspeaker converts _________ signals into ________ signals.

iv) Expand the term DVD.

v) How many lines are scanned in one complete frame?

b) Discuss the need of synchronizing and blanking pulses?

c) Give the comparison between NTSC, PAL and SECAM systems.

Q4) Attempt any two parts of the following : [2 × 5 = 10]

a) Explain the construction and working of TV camera tube.

b) Write a short note on HDTV.

c) Distinguish between LED and LCD TV.

Q5) Attempt any two parts of the following : [2 × 5 = 10]

a) Explain the operation of micro-wave oven.

b) Write short note on scanner.

c) How will you identify various faults in TV.

Time : 2.30 Hours] [Maximum Marks : 50
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NOTES :

i) Attempt all questions.

ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any
difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZm| Ho$ CÎma Xr{O`o &

à.à.à.à.à.1) {ZåZ{b{IV _| go {H$Ýht Xmo ^mJm| H$mo hb H$a| … [2 × 5 = 10]

A) H$m~©Z _mBH«$mo\$moZ H$s H$m`©àUmbr VWm CgH$s {deofVmAm| H$m {dñVma go dU©Z H$s{OE &

~) _ëQ>r ñnrH$a {gñQ>_ Š`m h¡? dy\$a Am¡a Q²>drQ>a ñnrH$a Ho$ ~rM AÝVa H$a| &

g) Am°{S>`mo {gñQ>_ _| {\$S>o{bQ>r H$s AdYmaUm na MMm© H$a| & Am°{S>`mo {gñQ>_ _| {\$S>o{bQ>r H$mo H$m¡Z go n¡am_rQ>a à^m{dV H$aVo h¢?

à.à.à.à.à.2) {ZåZ{b{IV _| go {H$Ýht Xmo ^mJm| H$mo hb H$a| … [2 × 5 = 10]

A) S>oQ>m Am¡a {g¾b Ho$ ê$n _| Am°{S>`mo H$s AdYmaUm H$mo g_PmBE &

~) Am°{S>`mo _| Q>mB_ H§$àoeZ Am¡a EH$gn|eZ H$s Š`m Oê$aV h¡? E_nrB©Or-4 àmê$n na MMm© H$a| &

g) ñH¡$ZtJ go AmnH$m Š`m A{^àm` h¡? BgHo$ àH$ma Š`m h¡?

à.à.à.à.à.3) {ZåZ{b{IV _| go {H$Ýht Xmo ^mJm| H$mo hb H$a| … [2 × 5 = 10]

A) i) ^maVr` Q>rdr {gñQ>_ _| Egn¡ŠQ> AZwnmV Š`m h¡?

ii) Q>rdr {gñQ>_ _| EH$ nyar bmB©Z H$m Hw$b Sw>aoeZ ................... H$hbmVm h¡ &

iii) EH$ bmCS>ñnrH$a .................. {g¾b H$mo ............... {g¾b _| ~XbVm h¡ &

iv) S>r dr S>r Q´>_ H$m {dñVma H$a| &

v) EH$ Hw$b \«o$_ _| {H$VZr bmB©Z ñH¡$Z hmoVr h¢?

~) qgH«$moZmB©qOJ Am¡a ãb¢qH$J âbgm| H$s Oê$aV na MMm© H$a| &

g) NTSC, PAL Am¡a SECAM {gñQ>_g² Ho$ ~rM VwbZm H$a| &

à.à.à.à.à.4) {ZåZ{b{IV _| go {H$Ýht Xmo ^mJm| H$mo hb H$a| … [2 × 5 = 10]

A) TV H¡$_am Q²>`y~ H$s ~ZmdQ> Am¡a H$m`©àUmbr H$m dU©Z H$a| &

~) HDTV na g§{já {Q>ßnUr {b{IE &

g) LED Am¡a LCD TV Ho$ ~rM VwbZm H$a| &

à.à.à.à.à.5) {ZåZ{b{IV _| go {H$Ýht Xmo ^mJm| H$mo hb H$a| … [2 × 5 = 10]

A) _mBH«$modod AmodZ H$s H$m`©àUmbr H$m dU©Z H$a| &

~) SCANNER na g§{já {Q>ßnUr {b{IE &

g) Q>r dr _| {d{^Þ Iam~r (FAULTS) H$mo H¡$go kmV H$a|J|?
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